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PasientKlarFraAr a LI LI LI LI LI LI LI LI LI LI LI LI LI
2015 2 1 4 2 1 11
2016 4 2 1 2 9
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PasientKlarFraAr a RB RB RB RB RB RB RB RB RB RB RB RB RB
2015 8 6 7 8 8 11 8 12 10 12 102
2016 16 18 12 7 44 25 1 11 11 9 164
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PasientKlarFraAr a RekNr RekNr RekNr RekNr RekNr RekNr RekNr RekNr RekNr RekNr RekNr RekNr RekNr
2015 406 413 499 396 366 348 240 250 377 423 389 274 41381
2016 348 398 331 419 498 462 202 285 428 420 510 343 4644
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Rekvisisjoner

HenteKommune ='CRLAND'

TransportType = 'TAX'

PasientKontor = 'St. Olavs hospital’
PasientKlarFraAr BetweenlInclusive(2015; 2016)
Netto = 'Benyttet'

Rekvisisjoner (RB)

PasientKontor = 'St. Olavs hospital’

Netto = 'Benyttet'

HenteKommune ='CRLAND'

PasientKlarFraAr BetweenlInclusive(2015; 2016)
TransportType = 'TAX'

Rekvisisjoner (LI)

TransportType = 'TAX'

PasientKontor = 'St. Olavs hospital’
PasientKlarFraAr BetweenlInclusive(2015; 2016)
Netto = 'Benyttet'

HenteKommune ='CRLAND'

Pivot-tabell LI

Pasientkontor = 'St. Olavs hospital’
TransportType = 'TAX'

PasientKlarFraAr BetweenlInclusive(2015; 2016)
HenteKommune ='CRLAND'

Netto = 'Benyttet'

Pivot-tabell RB

Netto = 'Benyttet'

PasientKlarFraAr BetweenlInclusive(2015; 2016)
HenteKommune ='CRLAND'

TransportType = 'TAX'

PasientKontor = 'St. Olavs hospital’



Pivot-tabell

PasientKlarFraAr BetweenlInclusive(2015; 2016)
Netto = 'Benyttet'

PasientKontor = 'St. Olavs hospital’
TransportType = 'TAX'

HenteKommune = 'CRLAND'
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